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SH: AN
3 Q4N 2483
Rl ASAY 243 AR (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 72,000
401 AIEHIZ SR THYI 127,000 383,000 256,000
== 127,000
01 Al&H| 127,000 383,000 256,000
Ogss &Nl s £X 100,000
= 100,000
Od HaHE 2atolHel HAZ SHE 4
Xl 27,000
= 27,000
HSAE SHHSH X2 A 15,000 0 15,000
= 7,500
Al 7,500
307 elztol & 15,000 0 15,000
= 7,500
Al 7,500
02 2B YA R E A 15,000 0 15,000
OHSAE SMSKH XA 15,000
=S 7,500
Al 7,500
HEAE 23tA AFAIS 69,300 0 69,300
& 20,790
Al 48,510
307 glztol & 69,300 0 69,300
= 20,790
Al 48,510
02 2IZHBYAIHE & 69,300 0 69,300
ONSAIE 2HHAL XIFA 69,300
= 20,790
Al 48,510
HSANY HUE F2I =<0 398,268 0 398,268
[ 119,480
Al 278,788
307 lztol & 398,268 0 398,268
== 119,480
Al 278,788
02 2B YA E X 398,268 0 398,268
OHSEANE HUE F2J)|=20! 398,268
= 119,480
Al 278,788
HdSAE TVEE 24324= AMEIIRM 88,000 0 88,000
307 @120l & 88,000 88,000
02 QB AANEE R 88,000 88,000
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SH: AN
3 Q4N 2483
Rl ASAY 243 AR (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHSAY VER %292 AZIIRH (M|
2E2) 88,000
HSAE AIZSUztAIE 480,000 60,000 420,000
401 AIEHIX R0 480,000 60,000 420,000
01 A28l 480,000 60,000 420,000
OS2AE =X SEHAIY 350,000
OERANE =+ 2+ 80,000
OZsSANE ==X 2= 50,000
HSAIE ¥ AEI AILSEUSAIS (D EALY) 50,000 0 50,000
= 30,000
Al 20,000
401 AIZHIX R0HH 50,000 0 50,000
= 30,000
Al 20,000
01 A28l 50,000 0 50,000
OMZAIE AL UHALS 50,000
== 30,000
Al 20,000
HEAT FXEZINEAI (M AL 70,000 1,820,000 A1,750,000
= 42,000
Al 28,000
401 AlEHIZ 2018 70,000 1,820,000 21,750,000
= 42,000
Al 28,000
01 A28l 70,000 1,816,730 A1,746,730
OSRAE FIEIMEAY 70,000
[ 42,000
Al 28,000
=sgdds Xd 128,400 128,400
201 2egh=3| 18,400 18,400
03 A= &I 18,400 18,400
O=sgad=s 243 g
5,000,000& 22| 10,000
O=sgdd=s gudel 248 A& 8,400
301 EtE NS 20,000 20,000
14 0Bt 2a3 20,000 20,000
O=g3dd= goliigds 20,000
401 AIEHIZ R HYI 90,000 90,000
01 Al&H| 90,000 90,000
OFdEE 15 sct2 22 90,000
S E A 1,050,000 0 1,050,000
= 210,000
Al 840,000




SH: AN
3 Q4N 2483
Rl ASAY 243 AR (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 1,050,000 0 1,050,000
= 210,000
Al 840,000
02 2IZHBYAIHE X 1,050,000 0 1,050,000
OlleZ2 8 AHELSIAIG (2XEE) 1,050,000
= 210,000
Al 840,000
ARl H R HERAHIZEE 2,538,331 2,908,869 A370,538
= 70,000
[ 1,558,940
= 279,3%
Al 629,996
ARIH N g4t A2 2,538,331 2,908,869 A370,538
= 70,000
= 1,558,940
== 279,3%
Al 629,996
MBI HBMAEEE 29 81,015 105,669 N24,654
201 223 49,955 60,209 10,254
01 At22t2ltl 6.200 18,414 A12,214
OA2IHZNXI2HE SHOIX =Xl2tel 1,200
OJIEL At 2] 5,000
02 S3=gl 7,920 5,960 1,960
Odle &JIes 3,360
obtesd &dllks 2,560
OJIEt =523 2,000
03 Ar=EHI 35,835 36,835 0
OALAISOHHI0 29 9,620
OAFRIED|Y & &t0t3tHI0l 3,320
OALZIHZ Il AISIOIHHIO] 3,560
o0t=&SHl O13tal 2,640
OLHAl AR BN B2 - 22Xd 227
8 24 2,985
0SSAE i &4E3 1,410
OAFRIHB MDY O 1,575
OAUMAI Al EHZ M &0t 14,070
OLHAl AR A BHIEE 2 9,260
oAt XN LY 1,480
OALRI XM SUtEtAt e 7,780
202 04| 9,840 9,840
01 =LHOHI 9,840 9,840
OAt2IHE N gdat G2 0| 5,040
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SH: AN
3 AMSIEEN YHAxY
Bl ARIHBH 243 XE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMSRBM dAXAs & 05, X8 S
=PAGT] 4,800
301 EtE2 NS 21,220 33,220 A12,000
11 #AIAHIXIZ S 3,220 3,220 0
ONISOHHI0 =g 3| 880
OCAl Al H M 22 - S2XE 227
8 2dd| 100
OLHAl ARl M BN B0t 1,240
OLAl Al HERZE 23 U 1,000
14 0Bt 243 18,000 30,000 212,000
OLAl Al BB IR ALE X1& 15,000
OALAl AR H BT B2 - 28 HEE X 3,000
ABIEDIY SH(LREIEE) 1,720,000 1,850,000 A130,000
s 1,290,000
== 129,000
Al 301,000
307 212+01& 1,720,000 1,850,000 130,000
= 1,290,000
= 129,000
Al 301,000
02 QItEHAEE X 1,720,000 1,850,000 130,000
O(GIENAIRIEDIY LReIFEAY XA 1,720,000
[ 1,290,000
= 129,000
Al 301,000
ASIEEE 2 AIQINEHl S MEIEDIY S (AN 100,000 120,000 220,000
EL]))
= 70,000
= 12,000
Al 18,000
307 gl2tol & 100,000 120,000 A20,000
= 70,000
= 12,000
Al 18,000
02 2B YAIHE £ 100,000 120,000 220,000
OArdoHsl XI& 100,000
= 70,000
< 12,000
Al 18,000
AMBIEEE 2 AIINEHl S AFRIRDIY S4 (MR 200,000 200,000 0
8Z)
[ 150,000
== 15,000
Al 35,000




A AAZ0I
B ABIHAT MEHHEA
St AR "B 243 XY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 200,000 200,000 0
= 150,000
== 15,000
Al 35,000
02 LB HANHEE 200,000 200,000 0
OAtzlE2gz X 200,000
= 150,000
=S 15,000
Al 35,000
ARIEBH FE SO X2 A 171,056 382,200 A211,144
= 88,940
=S 24,635
Al 57,481
301 LEtE NS 10,000 72,500 262,500
[ 5,000
= 1,500
Al 3,500
4Bt 23 10,000 72,500 262,500
OMEIEHZH FESHLL XJ(XSH2E
eIMIEIE) 10,000
[ 5,000
= 1,500
Al 3,500
307 @I2to1 & 161,056 309,700 A148,644
[ 83,940
= 23,135
Al 53,981
02 2B YA R E £ 161,056 309,700 A148,644
OMIEHZH FESHLIL XNJ(XSHEE
e124dl) 118,232
[ 63,940
= 16,288
Al 38,004
OMIEZH FESHLI XJ(XSH2E,
wEHl) 4,824
== 1,447
Al 3,377
OAZIEZ M #ASAD X3 (XAHAE,
o1244]) 36,000
= 20,000
< 4,800
Al 11,200
OAZIEZ M #ASAD X3 (XNAHAE,
wEHI) 2,000
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SH: AN
3 AMSIEEN YHAxY
Bl ARIHBH 243 XE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 600
Al 1,400
MBI HZH It XIRAALS 42,860 28,000 14,8060
= 12,860
Al 30,000
402 2IZtA=01d 42,860 28,000 14,860
=S 12,860
Al 30,000
02 RIINEASEZ(0IETHR) 42,860 28,000 14,860
OAIHB M QI ZetXIR A 42,860
< 12,800
Al 30,000
OEJ1g=sd 60,000 50,000 10,000
= 30,000
== 9,000
Al 21,000
307 212+01& 60,000 50,000 10,000
= 30,000
=S 9,000
Al 21,000
02 QB HANSEER 60,000 50,000 10,000
Obt=71g gAY 60,000
[ 30,000
= 9,000
Al 21,000
Ot=01g NT3tAke 50,000 50,000 0
== 25,000
Al 25,000
307 212+01& 50,000 50,000 0
< 25,000
Al 25,000
02 2IZHB A E & 50,000 50,000 0
O0271Y N3tA 50,000
= 25,000
Al 25,000
021 AFRE KA 113,400 123,000 29,600
=S 51,900
Al 61,500
307 21201 & 113,400 123,000 9,600
< 51,900
Al 61,500
02 2B HAHE L 113,400 123,000 29,600
OS2I MR N2 A 113,400
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